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WIER KEEL WS G BEH
% i R - KT E B g il & ) i

EENEE 10, 597, 803
HEE 10,597,803 x 65.8% — 1,157 6,972,197
REEEE 10,597,803 + 6,972,197 17,570, 000
B R % 17,570, 000
HERSHNE 17,570,000 x 10.00% 1,757,000
RERBE 17,570,000 + 1,757,000 19, 327, 000




RER-TEIT/ Svr—o KEB LRSS R B L
E=
B EREHE EE
% o B - AR B 2 B ff S = w =
AETEEM
A 0.50 48, 000. 00 24,000
IR
A 0.30 42, 200. 00 12, 660
B8 BT
A 0.20 32, 400. 00 6, 480
AEHT
A 0.30 31, 100. 00 9,330
& it {E¥8EH - 1.00K 52,470.00 52,470
iS5 :2
L% FEAHLUCRIESRORE - 88 (1) km2 Y (0.2 k m2)
2 # 1B - AR By g B %8 = w =
B8 BB
A 4.70 42,200. 00 198, 340
RS
A 1.10 32, 400. 00 35, 640
AEHTF
A 3.30 31, 100. 00 102, 630
AEWEE
A 1.10 25, 400. 00 27,940
& it YEZ8H :0.20km2 1,822, 750. 00 364, 550
iS5 :3
& AEASLVRIADRE - 83 (2) Kkm225 Y (0. 2k m2)
2 # 1B - AR By g B %8 = " =
B8 BB
A 4.70 42,200. 00 198, 340
RS
A 1.10 32, 400. 00 35, 640
AEHTF
A 3.30 31, 100. 00 102, 630
AEWEE
A 1.10 25, 400. 00 27,940
& it YEZ8H :0.20km2 1,822, 750. 00 364, 550




RER-TEIT/ Svr—o KEB LRSS R B L
EE 4
2% UNVIZEBZhigE (1) km224 Y (0. 2km2)
% o R - AR B g B ff %8 w =B w =
IR
A 3.20 42, 200. 00 135, 040
AEHTF
A 2.00 31, 100. 00 62,200
AEWEE
A 0.90 25, 400. 00 22,860
& it YE%8:H - 0. 20km2 1,100, 500. 00 220,100
BS:5
A% UNVIZ& B ZEdigs (2) km2Z5 Y (0. 2km2)
2 # 1B - AR By g B %8 = " =
B8 BB
A 3.20 42, 200. 00 135, 040
AEHT
A 2.00 31, 100. 00 62,200
AERBE
A 0.90 25, 400. 00 22,860
& it YE%8EH - 0. 20km2 1,100, 500. 00 220,100
ES:6
L% SREMRET km224 Y (0. 2km2)
% o R - AR B g B ff %8 w =B w =
RS
A 3.70 32, 400. 00 119, 880
& it YE%8:H - 0. 20km2 599, 400. 00 119, 880




RER-TEIT/ Svr—o KEB LRSS R B L
&5 :17
B MEESE km224 Y (0. 2km2)
% o R - AR B g B ff %8 w =B w =
B8 A
A 1.20 48, 000. 00 57, 600
B8 BB
A 1.70 42, 200. 00 71,740
RS
A 2. 40 32, 400. 00 71,760
AEHTF
A 0.80 31, 100. 00 24,880
& it YE%8E5 - 0. 20km2 1,159, 900. 00 231,980
iS5 :8
L SREEBT—8 77 A ILOERK km224 Y (0. 2km2)
% o B - AR B 2 B ff % = w =
B8 E E
A 1.40 48, 000. 00 67,200
IR
A 1. 80 42, 200. 00 75, 960
B8 BT
A 1.30 32, 400. 00 42,120
AEHT
A 0.70 31, 100. 00 21,770
& it YE%8:H - 0. 20km2 1,035, 250. 00 207, 050
E5:9
A HEEET—2 7714 ILIER km22% Y (0. 2km2)
2 # 1B - AR Bif B B %8 = " =
B8 E
A 1.10 48, 000. 00 52, 800
IR
A 2.50 42, 200. 00 105, 500
B8 BT
A 2.30 32, 400. 00 74,520
AEHT
A 0. 60 31, 100. 00 18, 660
& it YE%8:H - 0. 20km2 1,257, 400. 00 251,480




RER-TEIT/ Svr—o KEB LRSS R B L
H5:10
A MHEEE K4y (1)
% o R - AR B g B ff %8 w =
BHREE
= 1.00 774, 000. 00 774,000
& it {EZ8H - 1.00K 774, 000. 00 774, 000
=: 11
2% BFRERERE 124y
2 # 1B - AR By g B %8 % =
EFRBERE
= 1.00 127, 000. 00 127,000
& B E%8EH - 1.00K 127, 000. 00 127, 000
Bz5 12
L BEGES 124y
% o R - AR B g B ff %8 w =
BEGCEER
= 1.00 576, 573. 00 576, 573
& it {EZ8H - 1.00K 576, 573. 00 576,573




BERNRE KEELWULS B S XS
& b I - KT B 2 fili il % W OE

Bl 10, 597, 803
RS 10, 597, 803
UWNEEAIE 10, 597, 803
UAVEEBIE 9,894, 230
1EXETE 52,470
1 {EEETE 1.00 52,470 52,470

=
AEABIUVRIIADHRE - 8iHl 2,369,575
2 AEARBLUVRIEADERE - 88 (1 0.80 , 822,750 1, 458, 200

) k m2
SHERBLIURIADEE - 88 (2 0.50 . 822,750 911, 375

) k m2
UAVIZ &k B ZEchiREs 1, 430, 650
4 UNVIZ & B (1) 0.80 , 100, 500 880, 400

km2
5 UAVIZ &k 5Zdhigss (2) 0.50 , 100, 500 550, 250

km2
=ERTHIRET 7179, 220
6 = RTHIKET 1.30 599, 400 719, 220

km2
REREE 1,507,870
1T RERERE 1.30 , 159,900 1,507, 870

km2




BEARRE KBTI B T
2 # B - AR Bif ) i i =

ERTEBT 27714 ILDER 1, 345, 825
8 ZRTABT— 2 I 7AILDER 1.30 1,035, 250 1, 345, 825

km2
MEMET—2 771 ILIER 1,634,620
9 MtEMET—42 774 ILIERK 1.30 1,257, 400 1,634, 620

km2
HHERESE 774, 000
10 HBRESE 1.00 774,000 774, 000

%
EHiERE 127,000
mRE 127, 000
11 EFRERERE 1.00 127,000 127, 000

%
HiTEEE 576,573
REEEE 576,573
12 BEEEE 1.00 576,573 576,573




